
Briggs & Stratton Accessories Catalogue	 	FY  

17
Revision 1 – 02/07/2012

Vanguard Twin Models 295400, 305400 and 356400

1. Lo-Tone Muffler installed on Oil Filter Side (Low Mount) - Kit Number 995000

Kit Number: 995000

Kit’s content:

Sound Power Level @ no Load 295400-305400 356400

3000 rpm 96.0 dB(A) 97.0 dB(A)

3600 rpm 99.0 dB(A) 101.0 dB(A)



Briggs & Stratton Accessories Catalogue	 	FY  

18
Revision 1 – 02/07/2012

Item Part No. Description Quantity
1 805142 Exhaust Manifold 1
2 807948 Muffler 1
3 807595 Clamp 1
4 805849 Screw M6x10 2
5 805025 Screw M8x13 2
6 807689 Cover Oil Filter 1
7 805812 Bracket 1

1

2

3

4

5

6

7



Briggs & Stratton Accessories Catalogue	 	FY  

19
Revision 1 – 02/07/2012

2. Oil Filter Adapter Kit  Kit Number 995001

Kit Number: 995001

Kit’s content:

Item Part No. Description Quantity
1 808237 Oil Filter Adapter 1
2 805250 Gasket 1
3 96028 Plug, pipe 1

1

2

3



Briggs & Stratton Accessories Catalogue	 	FY  

20
Revision 1 – 02/07/2012

3. Super Lo-Tone Muffler installed on Oil Filter Side (ONLY High Mount)  Kit Number 995002

Kit Number: 995002

Kit’s content:

Sound Power Level @ no Load 295400-305400 356400
3000 rpm 95.0 dB(A) 96.0 dB(A)
3600 rpm 100.0 dB(A) 101.0 dB(A)



Briggs & Stratton Accessories Catalogue	 	FY  

21
Revision 1 – 02/07/2012

Item Part No. Description Quantity
1 805609X Exhaust Manifold 1
2 842187 Bracket 1
3 806102X Muffler Shield 1
4 794178 Muffler assembly 1
5 805317 Screw M6x15 2
6 223434 Clamp 1
7 841691 Washer, flat 2
8 805849 Screw M6x10 2
9 93203 Nut 1

10 93877 Bolt 1

1

2

3

4

5

6

 7  810 9



Briggs & Stratton Accessories Catalogue	 	FY  

22
Revision 1 – 02/07/2012

4. Super Lo-Tone Muffler installed on Oil Filter Side (Outlet Rear Mount)  Kit Number 995003

Kit Number: 995003

Kit’s content:

Item Part No. Description Quantity
1 807965 Muffler 1
2 808227 Muffler Guard 1
3 805448 Screw M6x10 4

Sound Power Level @ no Load 295400-305400 356400
3000 rpm 95.0 dB(A) 96.0 dB(A)
3600 rpm 98.0 dB(A) 100.0 dB(A)

2

3

1



Briggs & Stratton Accessories Catalogue	 	FY  

23
Revision 1 – 02/07/2012

5. Lo-Tone Muffler installed on Starter Side (Low Mount)  Kit Number 995005

Kit Number: 995005

Kit’s content:

Sound Power Level @ no Load 295400-305400 356400
3000 rpm 96.0 dB(A) 97.0 dB(A)
3600 rpm 99.0 dB(A) 101.0 dB(A)



Briggs & Stratton Accessories Catalogue	 	FY  

24
Revision 1 – 02/07/2012

Item Part No. Description Quantity
1 805378 Exhaust Manifold 1
2 805811 Bracket 1
3 807948 Muffler 1
4 807595 Clamp 1
5 805849 Screw M6x10 2
6 805025 Screw M8x15 2

1

2

3

4

5

6



Briggs & Stratton Accessories Catalogue	 	FY  

25
Revision 1 – 02/07/2012

Vanguard Twin Models 295000 – 356400

Super Lo-Tone Muffler installed on Starter Side (Outlet Rear Mount)  Kit Number 995006

Kit Number: 995006

Kit’s content:

Item Part No. Description Quantity
1 807964 Muffler 1
2 808227 Muffler Guard 1
3 805448 Screw 4

Sound Power Level @ no Load 295400-305400 356400
3000 rpm 95.0 dB(A) 96.0 dB(A)
3600 rpm 98.0 dB(A)

1

2

3


